
Securing cargo. We invented the concept.

80
32

95
_D

AT
 B

  

Friktionsfäste T Stomme 180
Friktionsfäste/Friction Attachment/Friktionsbefestigung

Art.nr 803295



BezeichnungDescriptionBenämningPcsPart.noPos.
GrundplatteMounting PlateMontplatta Plåt 190-230 296x292x818032491
Kunstoff PlattePlastic PlateGlidplatta 15 mm18006472
DistanzhalterShimSHIMS18006163
AusgleichspilzPlastic PlungePLASTPLUNCH28006034
SpiralfederSpringFJÄDER FRIKTIONSFÄSTE28006045
Befestigungs BügelLower ClampUNDERBYGEL FRIKTION18006026
SchraubeScrewSkruv M6S M20x150 FZB22111757
SchlossplatteLock PlateLÅSBLECK28031638
GummidämpferRubber PuckGummipuck 40 S serien fäste kläm/fr48031389
Obere KlammerClamp upperÖverbygel 190 115 147180076510
ScheibeWasherBRICKA BRB M20 FZB221190211
SicherungsmutterLock nutLåsmutter LM6M Hög M20 FZB221186112
SchraubeScrewSkruv MF6S M10x30 FZB 10,9221121413
SicherungsmutterLock nutLåsmutter LM6M låg M10 FZB221185614

Securing cargo. We invented the concept.

80
32

95
_D

AT
 B

 

ExTe Fabriks AB, SE-820 62 Färila Sweden. Tel: +46 (0)651 175 00. E-mail: info@exte.se www.exte.se

Friktionsfäste/Friction Attachment/Friktionsbefestigung Page 2 

Part.no 803295

ExTe förbehåller sig rätten att göra ändringar i specifikationer och 
annan information i detta dokument utan förhandsinformation.
 
ExTe reserves the right to make changes in specifications and other 
information contained in this document without prior notice.
 
ExTe behält sich das Recht vor, Änderungen an Spezifikationen und anderen 
Informationen in diesem Dokument ohne vorherige Ankündigung vorzunehmen.

(1
86

)

74

19
0

Vikt/ Weight/ Gewicht: 13,5 kg

2
3

6

5

4

7

8
9

10
11

12

250 Nm

Låsbleck vändbara för optimal montering/
Locking Plate reversible for optimal mounting /
Verriegelungsplatte reversibel für optimale Montage

4539

1

Pos. 3 Shims används endast vid behov.
Mått 3-5mm är viktigt för att få rätt funktion /
Pos. 3 Shims are used only when needed.
Dimensions 3-5mm are important to get the right function /
Pos. 3 Unterlegscheiben werden nur bei Bedarf verwendet.
Abmessungen 3-5 mm sind wichtig, um die richtige 
Funktion zu erhalten.

180° ==> ±3 mm

(1
92

)

14

13

50 Nm

32-

3-
5

23

41


